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A2
. . AEME (RA478Y—~)LEHE)
AlIE B - X1 I 5E Hh g3 AlTE
|7E B - X% | 5E Hh = T SO | TE 25 e
Ot hiiih (1) — 0.08 — PA-1000
QERERA — 0.08 — PA-1000
G EREr A — 0.07 — PA-1000
3/5(%£) g
(&) En @ERE A — 0.08 — PA-1000
GEREALA) — 0.08 — PA-1000
fbi5 0.07 0.08 — PA-1000
Dbl (1) — 0.07 — PA-1000
QERERA — 0.06 — PA-1000
G EREr A — 0.07 — PA-1000
9/4(&)
(&) En @ERE A — 0.06 — PA-1000
GEREALA) — 0.06 — PA-1000
fibi5 0.06 0.06 — PA-1000
ERERE
N N BIEE A —AXN)LER .
AER-FE A ARBATAY—RNEER) | g %
5cm 50cm 100¢cm
Dghsth il (1) — 0.05 — PA-1000
QERERA — 0.06 — PA-1000
3/5(K) B QEIER I — 0.06 — PA-1000 NXEBTEZDD-H
- @EEETE A — 0.06 — PA-1000 FEETHE
GEREL A — 0.06 — PA-1000
fibi5 0.05 0.05 — PA-1000
Dghsth il i (1) — — PA-1000
QERERA — — PA-1000
QEIEER — — PA-1000 XEBTEHZICHORA
9/6 (25
(&) n @ERETA — — PA-1000
GEREL A — — PA-1000
fbi5 — PA-1000
2/17 (A1)
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TR 304F
. . BIEME (A7 —N )L ER)
AlIE B - X1 I 5E Hh g3 AlTE
|7E B - X% | 5E Hh = T SO | TE 25 e
Ot hiiih (1) — 0.06 — PA-1000
QERERA — 0.06 — PA-1000
3/11(8) 2Y G EREr A — 0.07 — PA-1000
@ERE A — 0.07 — PA-1000
GEREALA) — 0.06 — PA-1000
fbi5 0.06 0.07 — PA-1000
Dbl (1) — 0.07 — PA-1000
QERERA — 0.06 — PA-1000
- G EREr A — 0.07 — PA-1000
9/10 ==
(R)=Y @ERE A — 0.07 — PA-1000
GEREALA) — 0.07 — PA-1000
fibi5 0.07 0.07 — PA-1000
T2
—_— —_— 5||-H-E 7 I:l: —_" m 4 —
AER-FE A ARBATAY—RNEER) | g %
5cm 50cm 100¢cm
Dghsth il (1) — 0.07 — PA-1000
QERERA — 0.06 — PA-1000
- QE R — 0.07 — PA-1000
3/6 (K)=EL
(JO2Y @ERET A — 0.07 — PA-1000
GEREL A — 0.07 — PA-1000
fibi5 0.07 0.08 — PA-1000
Dghsth il i (1) — 0.07 — PA-1000
QERERA — 0.07 — PA-1000
- QEREr A — 0.07 — PA-1000
9/6 (k) =L
O2Y @ERETA — 0.09 — PA-1000
GEREL A — 0.07 — PA-1000
fbi5 0.08 0.08 — PA-1000
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TRt 284F
. . AEME (RA478Y—~)LEHE)
AlIE B - X1 I 5E Hh g3 AlTE
|7E B - X% | 5E Hh = T SO | TE 25 e
Ot hiiih (1) — 0.06 — PA-1000
QERERA — 0.07 — PA-1000
- G EREr A — 0.08 — PA-1000
3/7(KR) =L
(JO2Y @ERE A — 0.07 — PA-1000
GEREALA) — 0.09 — PA-1000
fbi5 0.07 0.07 — PA-1000
Dbl (1) — 0.07 — PA-1000
QERERA — 0.07 — PA-1000
- G EREr A — 0.08 — PA-1000
9/7(k)EL
OEY @ERE A — 0.07 — PA-1000
GEREALA) — 0.07 — PA-1000
fibi5 0.08 0.08 — PA-1000
TRR274F
|l == Al == 5|'-H -E 7 D: —A B 3 .
1% B - K2 B WEB(RATAL—AIVEBR) | gz e
5cm 50cm 100¢cm
Dghsth il (1) — 0.08 — PA-1000
QERERA — 0.08 — PA-1000
QE R — 0.09 — PA-1000
3/4(2)HE
(&) n @ERET A — 0.08 — PA-1000
GERELA — 0.08 — PA-1000
fibi5 0.07 0.09 — PA-1000
Dghth il (1) — 0.08 — PA-1000
QERERA — 0.08 — PA-1000
QEREr A — 0.08 — PA-1000
9/11 (&)

VR @ERETA — 0.09 — PA-1000
GEREL A — 0.08 — PA-1000
fbi5 0.08 0.07 — PA-1000
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SRR 26£E
B H - I 545 AR (RATAY—ANEER) | e s
5cm 50cm 100cm
Ottt (1) — 0. 08 — PA-1000
QB H A — 0. 09 — PA-1000
3/5(K) B QEREm A — 0. 08 — PA-1000
@ Rz Fa Al — 0. 09 — PA-1000
GEEALA — 0. 09 — PA-1000
ibis 0. 09 0. 09 — PA-1000
gttt (1) — 0. 08 — PA-1000
QEIERA — 0. 08 — PA-1000 Mz
12/5(8) R QERER A — 0. 09 — PA-1000
@EEER — 0.10 — PA-1000
GEEALA — 0. 08 — PA-1000
ibis 0. 08 0. 09 — PA-1000
gttt (1) — 0. 07 — PA-1000
QEIERAI — 0. 09 — PA-1000
0/5(8) B QERER A — 0.10 — PA-1000
@EEEHRI — 0.10 — PA-1000
GEEALA — 0. 08 — PA-1000
15 0. 09 0. 09 — PA-1000
Ot (1) — 0. 11 — PA-1000
QERERH — 0. 07 — PA-1000
6/5(K) BY QEIERI — 0.10 — PA-1000
@ERETE A — 0. 08 — PA-1000
GEREILA — 0.12 — PA-1000
fibis 0. 07 0. 09 — PA-1000
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Dgith it (1) — 0. 09 — PA-1000
QERERA — 0.10 — PA-1000
anes, | OEIERIHA — 0.12 — PA-1000
ST @EIRETE A — 0. 11 — PA-1000
GRE LA — 0. 09 — PA-1000
i 0. 11 0.10 — PA-1000
ittt (1) — 0. 08 — PA-1000
QEIRERA — 0. 11 — PA-1000
., |GEEREA — 0. 11 — PA-1000
2A@WN | m R — 0. 10 — PA-1000
GEEALA — 0. 09 — PA-1000
i 0. 09 0.10 — PA-1000
Dttt (1) — 0. 09 — PA-1000
QERERA — 0. 09 — PA-1000
FRE264E QEERAI — 0. 11 — PA-1000
1150 BN | @BE A — 0.10 — PA-1000
GEEALA — 0. 09 — PA-1000
i 0. 09 0.10 — PA-1000
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. . AEME (RA478Y—~)LEHE)
AlIZE B - X1 I 5E Hh g3 AlTE
= = 5cm 50¢cm 100¢cm I5e 2 "%
Ot rhiiih (1) — 0. 11 — PA-1000
QERERA — 0.12 — PA-1000
G EREr A — 0.12 — PA-1000
1279(A)iEh
R @ERE A — 0. 11 — PA-1000
GERELA — 0. 11 — PA-1000
b5 0. 11 0. 11 — PA-1000
Oghth il (1) — 0. 10 — PA-1000
QERERA — 0.12 — PA-1000
GEREr A — 0. 11 — PA-1000
11.130K) Bh
P |omEEEAl — 0. 09 — PA-1000
GEREEALA) — 0.12 — PA-1000
b5 0.10 0.10 — PA-1000
Dbl (1) — 0. 10 — PA-1000
QERERA — 0.12 — PA-1000
QEREr A — 0.13 — PA-1000
10710(K) BN
: @ERE A — 0.12 — PA-1000
GEREALA) — 0.12 — PA-1000
b5 0. 09 0.10 — PA-1000
7/17 (A1)
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Al B - X% I 5E Hh g3 AlTE
= 5cm 50¢cm 100¢cm I5e 2 "%
Ot rhiiih (1) — 0. 10 — PA-1000
QERERA — 0. 10 — PA-1000
G EREr A — 0. 11 — PA-1000
9./13(&) BN
VR @ERE A — 0.10 — PA-1000
GERELA — 0. 10 — PA-1000
b5 0.10 0. 11 — PA-1000
Oghth il (1) — 0. 10 — PA-1000
QERERA — 0. 11 — PA-1000
GEREr A — 0.13 — PA-1000
8./16(2)EN
" loEEE R — 0.10 — PA-1000
GEREEALA) — 0. 11 — PA-1000
b5 0.12 0.13 — PA-1000
Dbl (1) — 0. 10 — PA-1000
QERERA — 0. 11 — PA-1000
QEREr A — 0. 11 — PA-1000
179CK)EY
@ERE A — 0. 11 — PA-1000
GEREALA) — 0. 08 — PA-1000
b5 0. 14 0.13 — PA-1000
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. . AEME (RA478Y—~)LEHE)

AlIZE B - X1 I 5E Hh g3 AlTE

= Iz 5cm 50cm 100¢cm I5e 2 "%
Ot rhiiih (1) — 0. 10 — PA-1000
QERERA — 0. 10 — PA-1000
- G EREr A — 0. 11 — PA-1000

6./7(&)EY
@ERE A — 0. 11 — PA-1000
GERELA — 0.12 — PA-1000
b1 0.14 0.13 — PA-1000
Oghth il (1) — 0. 09 — PA-1000
QERERA — 0. 11 — PA-1000
GEREr A — 0. 11 — PA-1000

5/23(R)EBEN

" | @EEEe — 0.10 — PA-1000

GEREEALA) — 0. 11 — PA-1000
b5 0.15 0.14 — PA-1000
Dbl (1) — 0. 09 — PA-1000
QERERA — 0. 11 — PA-1000
QEREr A — 0. 11 — PA-1000

4/19(&) EY
@ERE A — 0. 10 — PA-1000
GEREALA) — 0. 09 — PA-1000
b5 0.10 0.12 — PA-1000
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R4
SHI= S e =

B KR B AERCATR—IEBR)_ | s e
gttt (+) — 0.10 — PA-1000
QHbi5 0. 11 0.14 — PA-1000
QERE — 0.13 — PA-1000
@ERE — 0.12 — PA-1000
3/12(K) Bh |GOFEE — 0.13 — PA-1000
GERE — 0.12 — PA-1000
1FHEHE (BW) — 0. 06 0. 06 PA-1000
1FIESHE (BN) — 0. 06 0. 06 PA-1000
IFSKGHE (BA) — 0. 06 0. 07 PA-1000
gttt (+) — 0.12 — PA-1000
Qubi% 0. 14 0.14 — PA-1000
QEIRE — 0.12 — PA-1000
@ERE — 0. 11 — PA-1000
2130k) Bh |GOEE — 0. 11 — PA-1000
GERE — 0.12 — PA-1000
1FH54E (BA) — 0. 06 0. 06 PA-1000
1FIXSHE (BW) — 0. 06 0. 06 PA-1000
2FOFEDLYHE (ER) — 0. 04 0. 04 PA-1000
gt hiih (1) — 0. 11 — PA-1000
QHbi5 0.17 0.17 — PA-1000
= |OEE — 0. 15 — PA-1000
17230k &Y @EE — 0.12 — PA-1000
GERE — 0. 11 — PA-1000
GERE — 0.12 — PA-1000
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R 244EFE
— i BIEME(T1oas—~)LhER) —
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) FIESHH(BR) — 0. 06 0. 06 PA-1000
TS5 IF}ERZERI(BR) — 0. 05 0. 06 PA-1000
1.718(&) HEh H
QFOEDLYHE (BW) — 0. 04 0. 05 PA-1000
IFRBEE(EN) — 0. 08 0. 07 PA-1000
1FEBHE(BA) — 0. 06 0. 06 PA-1000
2FOEDLYHE (EA) — 0. 05 0. 06 PA-1000
Ottt (1) — 0. 11 — PA-1000
127120K) Bn|oms 0.17 0.17 — PA-1000
QERE — 0. 15 — PA-1000
@ERE — 0.13 — PA-1000
GERE — 0.13 — PA-1000
GERE — 0.14 — PA-1000
1FH84 (BM) — 0. 06 0. 06 PA-1000
2FRPYE(ERA) — 0. 04 0. 05 PA-1000
Ottt (1) — 0. 11 — PA-1000
=, |5 0.18 0.16 — PA-1000
107100k B QEE — 0.13 — PA-1000
@ERE — 0.14 — PA-1000
GERE — 0.14 — PA-1000
®ERE — 0.14 — PA-1000
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FRi24EE =
= E A= BIEE (A7 —N)LER) .
/,EIIIEE 951'; /ﬁllmiﬁ,ﬁ\ 5em 50cm 100¢cm IEIIIE%% 1%%
1FIELHE (BA) — 0. 06 0. 06 PA-1000
1FHE4(BRN) — 0. 07 0. 07 PA-1000
2QFOEDL YR (ERA) — 0. 05 0. 05 PA-1000
Ot i (1) — 0.17 — PA-1000
9. /11(K) BN |OwiE 0.18 0.18 — PA-1000
QERE — 0. 15 — PA-1000
@ERE — 0.13 — PA-1000
GEE — 0. 15 — PA-1000
GEEE — 0.15 — PA-1000
1FSSGHE(BA) — 0. 06 0. 06 PA-1000
2FOEDLYIE(EN) — 0. 05 0. 05 PA-1000
O T TIES) — 0. 14 — PA-1000
=, |5 0.18 0. 16 — PA-1000
8/10(®) B 1o — 0.13 — PA-1000
@ERE — 0.14 — PA-1000
GEE — 0. 14 — PA-1000
©EEE — 0. 14 — PA-1000
1FELLHE (BW) — 0. 07 0. 06 PA-1000
2FOEDLYIE (EN) — 0. 05 0. 04 PA-1000
Ot il (1) — 0. 14 — PA-1000
=, |85 0.18 0.18 — PA-1000
TR B S — 0.13 — PA-1000
DEEE — 0. 15 — PA-1000
GEEE — 0. 14 — PA-1000
GEEE — 0.17 — PA-1000
=, [IFS<EH(BEW) — 0. 05 0. 06 PA-1000
6/15(&) Hin 2FUFEDLYH (BR) — 0. 05 0. 04 PA-1000
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OELYRBEICHEITOMSIRE R ERFR

e : Hr31618-10

R 23~244E B
o . BIEE (A0S —N LN ER) .
i . [ N I.—Hi ﬁi\\ /. N =
/,EIIE H 9&1; /,E\IIF_ ‘H_1, Sem 50cm 100¢m IEIIE%% 1%%
Dbl ith (1) — 0.12 — PA-1000
Q15 0. 20 0.18 — PA-1000
QEE — 0.17 — PA-1000
6./715(%) B
®) B0 oERE — 0 14 — PA-1000
GERE — 0.13 — PA-1000
GERE — 0. 15 — PA-1000
1FEE4(BN) — 0. 06 0. 07 PA-1000
5/16(K) BE
k) Hh P& (BR) _ 0. 06 0. 06 PA-1000
DEhth il (1) — 0.14 — PA-1000
Qb5 0.16 0.16 — PA-1000
O — 0.16 — PA-1000
5,/16(K) BE
R T — 0.16 — PA-1000
GEEE — 0. 15 — PA-1000
GERE — 0.17 — PA-1000
1FIESE (BA) — 0. 06 0. 07 PA-1000
4,19 i
) B LroEbyR(ER) — 0. 05 0. 06 PA-1000
DEhsth il (1) — 0. 15 — PA-1000
Qb5 0.18 0.18 — PA-1000
QEkE — 0.16 — PA-1000
4,19 i
SO T — 0 16 — PA—1000
GREkE — 0.15 — PA-1000
OEE — 0.16 — PA-1000
IFOKZH(BRA) — 0.08 0. 07 PA-1000
3./19 i
(R) En FUOEDLYHE (BR) — 0. 07 0. 07 PA-1000
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Dbl ith (1) 0.17 0. 16 — PA-1000
Q15 0. 15 0.17 — PA-1000
QEE 0.17 0.17 — PA-1000
3./15 i3
R B0 oERE 0. 16 0 17 — PA-1000
GERE 0. 21 0.19 — PA-1000
GERE 0. 22 0.19 — PA-1000
AN IFOKZH(BRA) — 0. 07 0. 08 PA-1000
T PRFUOFEDYIE(ER) — 0. 06 0. 07 PA-1000
Ot hili (1) — 0. 16 0. 16 PA-1000
Qb5 0. 20 0. 20 — PA-1000
= |OEE — 0.18 — PA-1000
213 =
(A @ERE — 0.16 — PA-1000
GEEE — 0.17 — PA-1000
GERE — 0. 19 — PA-1000
1IFSKHH(BA) — 0. 08 0. 07 PA-1000
1.18(K) BEh
k) FPYVEDLYRBEE(ER) — 0. 05 0. 06 PA-1000
DEhsth il (1) — 0.17 0. 16 PA-1000
X Qw5 0. 16 0.17 — PA-1000
1 /fg(zgsi = |DEkE — 0. 20 — PA-1000
I O] — 0. 21 — PA-1000
BRIk — 0. 21 — PA-1000
b ER (1) — 0.16 0.16 PA-1000
b5 0. 23 — — PA-1000
12719(B) g d
(R)ERH IS5 amEA (L) — 0. 29 — PA-1000
BYEBERYDEA (L) — 0. 23 — PA-1000
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FRE234EE =
. . BIFEE (X470 —N)LEEF) .
HIE B - K SHIE Hh 5 H :
1FHE(ERN) — 0. 08 — PA-1000
12/14(K) M
P8 = (BR) — 0. 06 — PA-1000
1FORE RZE (BW) — 0. 08 — PA-1000
11.721(8) Bh
2F4-5SERE (BR) — 0. 07 — PA-1000
i ER () — 0.17 0. 20 PA-1000
11/150K) BEL 2
fibi5 0. 26 — — PA-1000
i ER () — 0. 21 0. 21 PA-1000
1026 ) Bh (2
fbi5 0.18 — — PA-1000
= |EutghER(E) — 0.19 0.18 PA-1000
=1l
1071900 B Toyig 0. 14 — — PA-1000
1FORE B2 (BW) — 0. 08 — PA-1000
= |2F4-5BIRE(BR) — 0. 07 — PA-1000
=l
10713(%) 24 B — 0. 26 — PA-1000
&= 1E P9 ET — 0.19 — PA-1000
< |EtheDER (L) — 0. 20 0.19 PA-1000
10/120K) B Wig 0.17 — — PA-1000
= |EuthhDhER (L) — 0. 20 0.19 PA-1000
=l
1076CK) 2Y i 0.16 — — PA-1000
+ B ER () — 0.19 0.19 PA-1000
8/280K) Wig 0. 23 — — PA-1000
1FORR=E (BWN) — 0. 08 — PA-1000
0.27(k) Y 2F4-T5;‘.-T"&L%§(EW) — 0. 06 — PA-1000
=7 |EEB — 0. 20 — PA-1000
BB 1E P EI — 0. 25 — PA-1000
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TR 234F
BB - KR B A AEE (A7 —AVEEE) | s e
5cm 50¢m 100¢m
o 140K) BER Bt ER (L) — 0. 22 0. 21 PA-1000
ibis 0.19 — — PA-1000
070K R Bt ER (L) — 0.19 0.19 PA-1000
ibis 0.17 — — PA-1000
8./30(d) EEN Bt ER (L) — 0. 20 0.19 PA-1000
15 0.17 — — PA-1000
6. 29(H) B 1FOmRE(EA) — 0. 08 — PA-1000
2F4-5m RZE (BA) — 0. 06 — PA-1000
8. 240k) BN Bt ER (L) — 0.19 0.19 PA-1000
15 0.17 — — PA-1000
8 170k) BN Bt ER (L) — 0. 21 0. 21 PA-1000
15 0.18 — — PA-1000
8.100K) Bh Bt hER (1) — 0. 22 0. 23 PA-1000
15 0. 21 — — PA-1000
= Bt ER (1) — 0. 21 0. 20 PA-1000
830K &Y 15 0. 22 — — PA-1000
o, |EHhELER (L) — 0. 23 0.22 PA-1000
17 28R) =Y 15 0. 20 — — PA-1000
T 234 Bt AR (L) — 0. 26 0. 25 RDS-30
6.7200K) BEh |pig 0. 21 — — RDS-30
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